iy
o
o
=

> — —~ — . . . .
Lo 5 5 F } H ;
2 oo : : : : : : A 0 [ : : : :
T 80 PETEY ¥ R ok O < EREES: e x @ Op--reeee e - ++ ----- LERPRE deeees
=T [ S I (N I I IS © = H A  EL
n L : : : : : v g L : : : :
n r : : HE : : | OO S e PR U U SR
X B0 e ? N
< I : : : : : : : =) N
\ r ) [
oo : : : : : : T | S P
210 i AR I ErR Il e 1 R AR S 5 L
: : : : : : : " -
oo : : : : : R | A A IR T AL Ay
R S 11 V8l 8 R ° 1

|
D
TTT T[T ITTI]

» . .
M PR N

|
()]

Ratio
Ratio
Ratio
B
N B

iy

o©
)

N
(=]

20 15 =10 -5 0 5 10 15 20 90 —15 -10 -5 0 5 10 15 20 -
Vertex z (cm) Vertex z (cm)

—=— DQM_mkFit_XiMinusPU_retrain2

—— DQM_mkFit_XiMinusPUold

200,

o
~

©
[N

150

<oy>(um)

o =
T T T
.T.Q.—I.. P

e

————]

|
=
[

<oy > (um) for PV

T T T T T
i

100

|
N
I

|
w
I

< 0y > tor merged vertices (um)

O A i O e 06

i C 1 7] O S S S NN e
3 O] L O RERREIEELE :
N [0 PR I | A O TP P I P P | P I PR P U PR P P
o P o ~Ir ; ] ; L : ; ; o —2f ; ; ] : ] ; ;
B [ T o : : 0 PO O o ) Y S SO g [ ] i |
o [ o : o F ]
05k : LBE e E SRETETERERREPERE
Lo 3 L RIRRERLIEEEE .

Lo=i5=i"=5 0 5 10 15 20 20-15-10 -5 0 5 10 15 20 -20 -15 -10 -5
Vertex z (cm) Vertex z (cm) Vertex z (cm)

500 000

T S O 0 s

<0Z>(um)
N
o

B0

300

<0 2z>(um) for PV

00+

400

< 0z >1tor merged vertices (um),

200

O an;..uu;;“#? ; w

Ratio

90 -i5-10 -5 0 5 10 15 20 -20 -1 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


